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7 100kN/M%EB A% — -~ - —|3m&BZBH — ~ — — — | 100kN/mMiZEBZ % — -~ — — [3mZEEBAS — ~ — — —
zhils 1.00 | 0.00 ~ 547 68.31 | #hds | 000 ~ 000| 1.65 8.35 zhilst 1.00 | 5.00 ~ 6.10 68.31 | Thds | 500 ~ 610 1.65 835
P 100kN/ MZEB A% — -~ - —|3mEBZBH — ~ — — — | 100kN/mMiZEBZ % — -~ — — [3mZERBAS — ~ — — —
zhils 1.00 | 000 ~ 571 71.31 | #hst | 000 ~ 571 | 1.80 9.09 zhilst 1.00 | 5.00 ~ 6.40 71.31 | #hS | 500 ~ 6.40 | 1.80 9.09
3 100kN/ M%E#B A% — -~ - —|3mEBZBH — ~ — — — | 100kN/mMiZE#BZ % — -~ — — [3mZEBAS — ~ — — —
zh st 1.00 1000 ~ 701 88.92 | #Fhds | 0oo ~ 701 1.92 9.73 zhst 1.00 | .00 ~ 9.30 88.92 | Ths | 500 ~ 9.30| 1.92 9.73
4 100kN/mM%EBZ%5 | 1.00 | 000 ~ 0.39 105.83 |3mEBZ D -~ — — — | 100kN/M&# 2% | 1.00 | 1112 ~ 1240 10583 |3mE#Z 3 - ~ — — —
Fhils 1.00 039 ~ 818 100.00| FThs | 000 ~ 818 202 10.28 zhst 1.00 | 500 ~ 1112 100.00 | Ths | 500 ~ 1240| 202 10.28
5 100kN/mM%EBZ%5 | 1.00 | 000 ~ 050 107.37 | 3mEBZ 3 -~ — — — | 100kN/m#zE#EZ5 | 1.00 | 1220 ~ 1430 10737 |3mEEZB - ~ — — —
Fhilst 1.00 | 050 ~ 827 100.00| Ths | 000 ~ 827|195 9.86 zhilst 1.00 | 500 ~ 1220 100.00 | Fhst | 500 ~ 1430 1.95 9.86
5 100kN/ Mm% 25 — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEB 2D — ~ — — —
zh st 1.00 | 0.00 ~ 6.08 76.20 | FhS | 0o0 ~ 608 1.79 9.06 zhst 1.00 | .00 ~ 7.00 76.20 | EhS | 500 ~ 700\ 1.79 9.06
- 100kN/ Mm% 25 — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEB 2D — ~ — — —
zh s 1.00 1000 ~ 729 92.90 | #n4S | 000 ~ 000\ 1.72 8.68 zhst 1.00 | .00 ~ 9.40 92.90 | =hbs | 500 ~ 940 1.72 8.68
g 100kN/ Mm% 25 — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEBZD — ~ — — —
zh s 1.00 1000 ~ 704 89.35 | £hs | 0oo ~ 000 1.74 878 zhsth 1.00 | .00 ~ 880 89.35 | Ths | 500 ~ 880 | 1.74 878
g 100kN/ Mm% 25 — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEBZD — ~ — — —
Zzhilst 1.00 | 0.00 ~ 697 88.33 | #hus | 000 ~ 000 1.63 8.25 zhsth 1.00 | 5.00 ~ 9.10 88.33 | #hs | 6.00 ~ 910 1.63 825
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
Zhilst ~ zhils ~ zhilst ~ Th st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
Zhilst ~ Zhilst ~ zh st ~ zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
Zhilst ~ Zhllst ~ zh st ~ Th st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
ZFhilst ~ Fhilst ~ zh st ~ Th st ~
100kN/ Mm% B Z % ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
Zhlst ~ Fhllst ~ zh st ~ Th st ~
100kN/ Mm% Z % ~ InEHBZD ~ 100kN/M%EBZ5 ~ ImEHBZD ~
zh st ~ zh st ~ ZznLst ~ zh st ~
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